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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311078
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213112221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

When a normal student behaves m an erratic manner in the class. you would:

&8 Fobm mCF';E_J SENES° oPrrde (B8N0 808053 9 do IFY?

Options :
Pull up the student then and there.
5030 D0 B2 JeBLEED
55213148001. ™ -
Talk to the student after the class.
S811& So=8 DTLE Sreptharid
55213148002. x

Ask the student to leave the class.

e ﬂmﬂ;g‘sﬁ SO DES E%’;E&:oe‘:ﬁ‘a
55213148003.



Ignore the student.

e PO HBoHE D
o [
55213148004.

Question Number : 2 Question Id : 55213112222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A teacher's most important challenge 1s:

&8 Garreaind (DerdDd Baren
Options :

To make students do their home work

DTdes 208K Dawosto
)
55213148005.

To make teaching-learning process enjoyable

*‘”’565—4"‘" 53 (BB wFEsss0 Jchto
55213148006.

To maintain discipline in the class room

SEHS KL (Bad ﬁ:‘*é" Jolulnle
55213148007.

To prepare the question paper

'-E""'Eﬂ_,,_‘:""h ?.'JCﬁ.."'“fl:'tﬁ
55213148008.

Question Number : 3 Question Id : 55213112223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A person can enjoy teaching as a profession when he
5 58 oG &V ST D0TBRPHEOE, ©SI8

Options :

has control over students.

DTHe T VADOER SR)ZPE
552131480009.

commands respect from students.

DTpRe B ol TR FPolda)d

55213148010.

1s more qualified than his colleagues.

JTFRErDe ST7) JE)S DudSen SOA SV
55213148011.

1s very close to higher authorities.

o0s%HeS® S0 PRS0 EON GBI
55213148012.

Question Number : 4 Question Id : 55213112224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Maximum participation of students 1s possible in teaching learning through:
*"qﬁ—n"""* B3 (HBcHs® “‘Dﬂ“é:a RSP Sd) DoRPotoT HKE
od oo o

Options :



discussion method

35%) B8
55213148013. '

lecture method

SRTR0 DS
55213148014, i

use of audio-visual aids

&% —-F5e SEFH56ere DI@FNOSEO
55213148015.

Activity based method
S\aeroed SRS D8
g o &
55213148016.

Question Number : 5 Question Id : 55213112225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is not important aspect of the teacher's role in learning?

OfRN08 GPETae) (HErs PE Ao vodo HG?

Options:

The development of insight into exam pattern and scoring

$0E Do Jkure S0 ©LE S RHod Srgo drdosto
55213148017.

The development of insight into the pitfalls and dangers to be avoided

OgdNE° o BEotien HOD [EIrmreH ©fIiN0H JrSSD o
55213148018.



The provision of encouragement and moral support

P50 olcin I8 D vdrio

55213148019.
The provision of diagnostic and remedial help
SPOATBes SOAN AeBes SPsPEo ©oliodtso
55213148020, |

Question Number : 6 Question Id : 55213112226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What do you consider as the main aim of inter disciplinary research?

DG Tpe HEHTROS B0SES TwE), Swgy e

Options :
To bring out holistic approach to research.
HOTEIE® 3o G5B Dofrodosto
55213148021.
To reduce the emphasis of single subject in research domain.
H50S5H505 Jonobod) o8 e Dobs voeR Hoddo Ihdo
55213148022.
To over simplify the problem of research.
HoGme S0 JEFo Jawso
55213148023.
To create anew trend in research methodology.
Do a":cgéo@oc&: SR eBad ﬁéﬁ&oﬁitﬁo
55213148024. )

Sub-Section Number : 2



Sub-Section Id :

Question Shuffling Allowed :

5521311079

Yes

Question Number : 7 Question Id : 55213112227 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Field-work in research is mvolved in:

SEFow DY M &) HoSHe 850
&

Options :
Empirical
WeELE
55213148025.
Historical
oS
55213148026.
Experimental
BIFrES
55213148027.
All the above
55213148028.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 8 Question Id

3
5521311080

Yes

: 55213112228 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If a researcher conducts a research on finding out which administrative style contributes
more to institutional effectiveness ? This will be an example of

D Bodrore dopRo KodkNE MEFwS sS@ARITO™ SRUNn: of eodop ol

Options
Basic Research
BEo8 H0EHD
55213148029.
Action Research
Soedhs B0
55213148030.
Applied Research
@S0 H0-385S
55213148031. o
None of the above
RO Ty
55213148032.

Question Number : 9 Question Id : 55213112229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is not correct?

18 - r.'\,f;*' wh = Ty v T e P )
=00 TFPul” T (B3&aarlicn &

Ly



Options :

Obyectives of research are stated normally 1n first chapter of the thesis

Fordmore H08°G 006’ Imiid ermaodt S0 ogred B0,
55213148033.

Researcher must possess analytical ability
0D DI o) 59 somd
55213148034.

Variability 1s the source of problem

S6de Srordo $0SE5T Shrdres agrto
55213148035.

55213148036.

Question Number : 10 Question Id : 55213112230 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A null hypothesis states that

Sy (DN (PSR 3eR 0D

Options:
There 1s no significant difference between the variables
SorHeBH e rHGoSENS Sonogo B
55213148037.

Same as research hypothesis

HOSES (DEONSBI Gotnod
55213148038.



Research results are predictable
HeSETe HDTren SVOHITE &3ZrPoSSASEMT SOt
55213148039.

There is a significant difference between the variables
Sorde g MHZoBENR Somoio St
55213148040.

Sub-Section Number : 4
Sub-Section Id : 5521311081

Question Shuffling Allowed : No

Question Id : 55213112231 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :

Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

The IT'Ts are now under the scanner of the Supreme Court following an SLP for allegedly continiung
irregularities and bungling in JEE for admissions. The apex court has issued notice to the Ministry
of HRD. The SLP was filed by a CS Profat ITT Kharagpur challenging the dismissal ofhis PIL by
the Delhi High Court in June 2010 on the ground that he had no locus standi to challenge the
validity of JEE. They are vet to disclose the complete data of JEE 2010. The evaluation scheme
was changed after the examination and there were serious flaws in admission counselling based on
JEE 2010 results.

The SLP also called for a single entrance examination. replacing all existing exams as IIT JEE.
ATEEE and State exams. It further says that the RTT data on JEE was ridden with many discrepancies
as adhocism in cut off determination. unattended errors in question settings/evaluation. tampering/
shredding of ORS inundue haste. selecting IIT administrators’ wards in some ITTs. closed admission
counseling resulting in irregularities in admissions and seats lying vacant. zero accountability for
attending to apparent etrors, poor ethics in JEE administration etc.

Proposals for corrective reforms have also been suggested in the SLP. A committee of independent
experts to formulate single examination system rather than close-door committee of four IIT
Directors too has been suggested. It has proposed seven reforms for JAB including release of
model answers along with solutions immediately after the examination is over, releasing of marks
at the time of results besides publishing status of vacant seats and filled-in seats on day to day basis
during the adimission counselling.
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Sub questions

Question Number : 11 Question Id : 55213112232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

What 1s wrong with II'Ts now?

STy [ITS® 2200 ST HNE?

Options :
They have academic freedom.
08 TR0 KooGodS R &0l
55213148041. &
The get enough funds.
SN Agben FPoth&HT
55213148042.
There 1s mismanagement of admissions.
D& SerovoPudteisssten
55213148043.
Education in ITTs 1s very expensive.
[[Ted® 5tH) Trer pERIt.
55213148044.

Question Number : 12 Question Id : 55213112233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Why did the High Court dismiss SLP?
';3;"?% SLP Q0595 89 Jooh?
Options :

It has no truth mn 1t

TR SH0 B
55213148045.



Itis expensive
30 o RS0
55213148046.
Plamtitf does not belong to that area
Ro0dD & [FromEdl Told T R
55213148047.
The data was not correct
eR RORO =D
55213148048.

Question Number : 13 Question Id : 55213112234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



Which are not discrepancies of JEEs?
JEE G &°aren 5200 2D?
1L Cutoff determunation
Sedesn Q8o
1. Mistakes in question settmgs/evaluation
©H3 oD Ddord Do Srerostes® Edpen
m.  Tamperng of ORS leisurely
ORS 9 Taylre Shosto
. Selecting IIT administrators " wards i some ITTs
IIT Qoviren ) TEED 008 550
v.  Closed admission counseling with uregularities in admissions
$BEPRo®, B (H3F @B eEsren
.  Total filled seats
0 Dol Se DSoeen
vi.  Non-accountability for errors
e uromebsso 86
vi.  Bad ethics in JEE admuinistration

JEE ©&° ¢385 devde [@rsngrs

Options :

111 and vi

111 3050 Vi
55213148049.

nandv

1300 v
55213148050.

55213148051.



v and 1

Vil 300w 1

v and vit

1V s08ctn v
55213148052.

Question Number : 14 Question Id : 55213112235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the plan of the SLP?

SLP &n%) (Heds o20d?

Options :

To conduct a common entrance test

2.8 Arrde (BRE a..L.-S QG roSEeRs
55213148053.

To conduct tests at various levels

EeEAlw] :‘ﬂom &° ($3¥ HEZen RE-irosto
55213148054.

To mvite foreign admissions

Do BBTERos e Dosto
55213148055.

To mvest further m education

a,ci@" 00od mu”“ﬂ -y eﬁe:cﬁo
55213148056.



Question Number : 15 Question Id : 55213112236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

How can the examination system be improved?

SO D Der HIHDHDOL?
[is]

Options :

By going for online assessment

OIES 2RVoT D Ko T
55213148057.

By mntroducing CBTs

CBT o $0sabo Hahiso wooe
55213148058.

By making the examination descriptive

Davere)s 865 oo
55213148059.

By implementing the reforms

JoBred v Iabio TrT
55213148060. s
Sub-Section Number : 5
Sub-Section Id : 5521311082
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213112237 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s called dyadic commumnication?

& (@00 8 DO BES 55 dNAT 09 DeSntHEod?

-

Options :

Intrapersonal communication

0I0F TR SredBHaS
55213148061.

Iutelpemoual commumication

5088 HHNS émﬁ::s’iﬁ
55213148062.

Group communication

PEPErS SHTTIEHS
55213148063.

Mass commuunication

P 2RS S0 OSES
55213148064.

Question Number : 17 Question Id : 55213112238 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Some of the following lines are not related to oral communication. Find them out;
& (8ob Doed® FR) TS Sirmd (@Hrcod® Sonogo 30N BY. ED STk,
1 [tisspontaneous and natural
50 SPEREDIO SO SPEDI
i [tisnotnatural
30 BP0 D
m Itiseasy for others to understand
s8heD ebo TE%iko ego
v, Itis somewhat difficult tounderstand
20 Fos S8 eo RS0 %0
v. Itdevelops a good relationship between a speaker and a listener
50 35 B0 JRr0 Hify Hod donored) §HA Fhod
v Choice of words 1s one of the major things
Hro Q085 @R0 (SN FaE wid
vii.  Itis supported by non-verbal communication
50 Bisrd SirarS (@ERrdo eraed) pedtRol
i Itisnot co-related with non-verbal communication
20 BUrd SarmroeRd SiFEdonotio =
The right answer according to the code i

55 (Hz80 $BX SaireFRo

Options:

L uandiv

1. 113508 1v
55213148065.

v. viand vi1

V. V1 2508050 vil
55213148066.

viL viil and 1

Vi1, Vi1l 00 1
55213148067.



1. 1vand v

11, 1V 300 Vil
55213148068.

Question Number : 18 Question Id : 55213112239 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the followmng :
& |Bol D wED0d

List -1 List-II
=lr-1 i -2
1. Physical Barriers . Semantics

T85 o 8 Boewsialn (ReiroéS)

2. Psychological Barriers b. Technology
SRRRE eode POSBES (Bed)
3. Lngwstic and Cultural Barriers c. Hall Temperature
‘ B i 5O e288
P4 HOa oK) 185 vhowe i3
4. Mechanical Barriers d.  Self-image
ol L2
DRSS eione o) Higw
Codes:
G
Options :
l-c, 2-d, 3-a, 4-b
552131480609.

1-b, 2-d, 3-a, 4-¢
55213148070.



55213148071, L& 2-d. 3-¢, 4-D

1-d, 2-c, 3-a, 4-b
55213148072.

Question Number : 19 Question Id : 55213112240 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

communication includes individual reflection. and contemplation.

RoFRE’ ai;%r’ié @800 DO DINV0 ST,

Options :
Intra
2ESBo
55213148073. =
Inter
LOHSS
55213148074, 2
Mass
e e
55213148075.
Oral
“‘xﬂ@é
55213148076.

Question Number : 20 Question Id : 55213112241 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the most important quality of a good teacher?

o) rHhsy ny) B8 ey eFeo Hnd?

) [y

Options :

Written commumnication skill only

088 J3rerordS KowoGoH Jeo IrE
55213148077.

Command of the subject

RT3 WBI Hew 50N oo
55213148078.

Distance from the students

e ool Erdore ot

o

55213148079.

Compassion for students

e ero 580 eoliéco

=) [

55213148080.
Sub-Section Number : 6
Sub-Section Id : 5521311083
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213112242 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



A tram of length 120 meters long travelling with a speed of 54 kmph can cross a bridge of length X
in 30 seconds. The length of the bridge X (in meters) 1s

X Qe T $08%D 120 DY Pyie Ten, fotrdh 54 858 Twe Holrdr 30
26008 TEI6. 8 H088 TS ()

Options :

55213148081.

120
55213148082.

450
55213148083.

55213148084.

Question Number : 22 Question Id : 55213112243 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The compound mterest on the principal amount ‘P* for two years with the rate of 8% p.a. 1s Rs.
2.496. 1f the mterest 15 compounded annually. Then principal amount ‘P* 1s (in Rs.)

ATOQPN0 P’ 2 W06 )05 8% :Jt;is WP, B0 006 008 o B8 ar. 249
(509805055 BERKED HBB), @ond HFedN0 Errahod)
Options :

12,000
55213148085.

2496
55213148086.



15,000
55213148087.

20,000
55213148088.

Question Number : 23 Question Id : 55213112244 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A" and ‘B’ mvested an amount Rs 21,000 and 17,500 respectively in a business. At the end of the
year, they make a profit of Rs. 26.400. Their individual shares m the profit s

2.8 T5rlsne A HOOM B © DEPBEN SEXT EF. 21,000 O 8r. 17,500 2,
N0 YTP0eh TO eraiand &, 26,400, 7ol & 0 aeren (&, 0F)

Options :
1.440: 1.200
55213148089.

14.400: 12.000
55213148090.

12.000; 14.400
55213148091.

1.200:; 1.440
55213148092.

Question Number : 24 Question Id : 55213112245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If P’ can produce 60 cakes in 9 days and ‘Q” can produce 70 cakes m 21 days, The number of days
required to produce 100 cakes together (in days) 1s

P “‘*\J“feo 60 Hod 9 Szod sardBodiod. B ek 10 oo 21 Sred
Xr&Tahko. 8890 0% 100 30 ) Fred dordEs ’%@fo’

Options :

3
55213148093.

9
55213148094.

10
55213148095.

11
55213148096.

Question Number : 25 Question Id : 55213112246 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing number in the following sequence 1s:
1806 ngc‘fméé S HODS QO
4,12, 84, 3612,

Options :

6526884
55213148097.



6523272

e

55213148098.

Fep il
55213148099.

14448
55213148100.

Question Number : 26 Question Id : 55213112247 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing group of letters in the following sequence is:
i b b Y v, W
808 E00S” SD0DS @0F T°e HAFTO:

SAB, RBB, QCD,PDD, =, NFF

Options:

CBY
55213148101.

55213148102.

OEF
55213148103.

YD
55213148104.



Question Number : 27 Question Id : 55213112248 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘CGIN’ 1s related to “ACDEF’. in the same way ‘DINQ’ is related to
‘CGIN’ & ‘ACDF’ & 0200850 §0¢%. eF dsnm DINQ’ & Ho20855m

Options:

BEHJ
55213148105.

BEHI
55213148106.

BEGI
55213148107.

BEGI]
55213148108.

Question Number : 28 Question Id : 55213112249 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In a certamn code language, 1f the word ‘SPHERE’ 1s coded as EREHPS, then how 1s the word
"EXHIBITION’ coded in that language

2.£ 0% §6 2726 SPHERE 00 ‘EREHPSTT 44000, & 66 27i® EXHIBITION’ 30
Jer §8 &onad

Options :



NOTITBIHXE

55213148109.

NOITIDIHXE
55213148110.

NOITIBIHWE
55213148111.

NOITIBIHXE
55213148112.

Question Number : 29 Question Id : 55213112250 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

X+Y means X 15 the son of Y. X~ Y means X is the daughter of Y. X x Y means X s the father of

Y. X/Y means X is the mother of Y. IfAxB/C-D/E. then A ts related to E i3
X+Y @ X, Y G08) . X- Y @dm X, Y 008, Srehd. X x Y o X, Y 008} ok, X/ Y
O X, Y 0% 0. AxB/C-D/E @ond A0 E &Ko H50aodm

Options:

Husband

230
55213148113.

Brother

FCOBOCD
55213148114,

Uncle

23°23P00 / 623%6N)
55213148115,



Brother in law

27 / 2”000
55213148116,

Question Number : 30 Question Id : 55213112251 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In a class of students, 35 play cricket, 65 play football and 20 play both cricket and football. How
many students play at least one game.

28 SSEBSR Ao 55 500 B3 edad, 65 006 HEr)S sdeEd, HO0 20 H0O
Boch sten (B35 A H)er)6) ederd. Sdno 28 et e driden Jodd

Options :

100
55213148117.

120
55213148118.

&0
55213148119.

20

55213148120.
Sub-Section Number : 7
Sub-Section Id : 5521311084
Question Shuffling Allowed : No

Question Id : 55213112252 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (31 to 35)
Question Label : Comprehension

Note: The questions Q. 31 to Q. 35 are based on the following information:

Habd: 9400 Q.31 0 Q.35 508, 808 darardo errdom &) on.
The number of students passed in class X of a school, in the three sections A, B and C , i four
subjects: Mathematics, Physical Sciences, Biological Sciences and Social science, is presented in the
followmg multiple bar diagram. Assume the number of students i each section is 40.
W TS, 105 s518S, 2, B Q00 ¢ oF Srd drrod, Tol dadred:
i, T8 TR, A9 TR SO Fod T & 48888 dde doay, &
Bod amd Tyrdgos WébptaFw. W8 drfoda Amde wog; 4w

4000080 &arohsod,

Mathe Physical Biolog cal Social

Sub questions



Question Number : 31 Question Id : 55213112253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The maximum possible number of students in section A, who passed in all the four subjects is,
o 'y ] T .Y 4 4 v, £ P S I Y A i
derko A S &) deded, Tend oo, K8a0T Gad)B dmide do;,

Options :

28
55213148121.

31
55213148122.

39
55213148123.

26
55213148124.

Question Number : 32 Question Id : 55213112254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Out of the number of students passed in Physical Sciences, the pass percentage of students in section
Bis

T & — &y
FRETIT0S 68088 dde 2093, 8B 62 6808 dode Téo

Options :



55213148125.

31.95
55213148126.

32.98
55213148127.

35.05
55213148128.

Question Number : 33 Question Id : 55213112255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The number of students in section C who failed in biology is

TR, b oo e = f — T T " .Q’—:'ﬂ"\ﬂ*-. n o W e
BT R0 ORI, WE® 'C' SR T ;DO DO

Options:

55213148129.

55213148130.

11
55213148131.

14
55213148132.



Question Number : 34 Question Id : 55213112256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

On the three sections. the percentage of passing students in Mathematics is
Lurch Derme IS0, idsoS B o idhe Teo

Options :

40.3
55213148133.

68.4
55213148134.

13.3
55213148135.

80.8
55213148136.

Question Number : 35 Question Id : 55213112257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In which subject 89.166 percentage of students passed ?
P w4 = o - &y ;
D DACHO S 89.166 T°H0 HOO &3

Options :

55213148137.



Mathematics

HE3es 50

55213148138.

55213148139.

55213148140.

Physical Sciences
2T edE A e

Bilogical Sciences
2805 T Q3

Social Sciences
RO PAVEIE K [NV

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

8
5521311085

Yes

Question Number : 36 Question Id : 55213112258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
MICR stands for

MICRe&T

Options :

55213148141.

55213148142.

Magnetic Ink Character Reader

OIHTOS VTP BZTD) SO36

[="9

Magnetic Ink Code Reader

OIS VTP 558 3030



Magnetic Ink Cases Reader

©IHI8 bo ShHeod SO
55213148143.

Magnetic ink code recorder

©IHFES doe 558 TR0
55213148144.

Question Number : 37 Question Id : 55213112259 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s embedded system?

QoTRE 5358 2d?
¥ @

Options :
The programme which arrives by being wrapped in box.
a5 ffn....' B'Ju @tm.’ﬁ

55213148145.
The programume which is the permanent part of the computer
Soel &8 gritorr Hot [BHrd

55213148146. =
The computer which 1s the part of a big computer
Y Sogeel grriore $o% Soxgeerl

55213148147.

The computer and software system that control the machine

a8 aholerd) B80T Sogeed ook FHI6
55213148148. = = "



Question Number : 38 Question Id : 55213112260 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Options :
Cookies
Svilsy)
55213148149. )
Plug-ns!
2N-B%
55213148150.
Scripts
(8953
55213148151. ko
ASPs
55213148152.

Question Number : 39 Question Id : 55213112261 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Protocol used by e-mail 1s

e- oS 6 Fe® =5

Options :

FIP
55213148153.

TCP
55213148154.

ID
55213148155.

POP
55213148156.

Question Number : 40 Question Id : 55213112262 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

As apart of Government to Business (G2B) intfiative the Government of Inidia has started the

followmg protral

Sehdro Sood) dero (G2B) & erifore (réE (HehEo [Be80dods 208
4] o G W]

Options :
GEM
Tatesl Dy
55213148157.
Diamond
o

55213148158.



Gold

selelgilele)
55213148159.

Chanakva

eeese
55213148160. -

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

9

5521311086

Yes

Question Number : 41 Question Id : 55213112263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Chipko movement is a public agitation that occured in

Ty

2% stirho a8 20nol.
Options:

Mansbal area of kashmur

58,86°0 Srdfad (Frdo
55213148161. =

Silent valley of Kerala

-

8P Do

il

55213148162.

Sunderbans area of Bengal

Torre Jols 55;3
55213148163.

55213148164.



Ther1 Garhwal area of Uttar Pradesh

&8BNTIE®D BIr 1OS (Frodo

Question Number : 42 Question Id : 55213112264 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Higher amount of sulphur -dio-oxide (SO,) is emitted i the atmosphere by —

FES8eos® vfsor ¥e)6 Be8)E (SO,) & dbthe TR
Options :

Sugar Industry

S8 HOIER
55213148165. g

Thermal Power plants

585 D8 Soren
55213148166.

Food processing industry

©FE [aranof R0
55213148167.

Bulk drug manufacturing Industry

TR whs EJ.-'E.;.D SAPHTAD HOEH
55213148168.

Question Number : 43 Question Id : 55213112265 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Who said that the forest should be saved not because they are beautiful or because they shulter

wild creatures of the wilderness, but to only provide homes are jobs to people.

wotio 55ar B8 S de yievRs el =¥ BaeD 60, S Anerdd

©UIod Srbéored 00 ASh?

Options
Aido Leopold and Rachel Carson
08 OTFrS, O3S 2885
55213148169. =
Theodore Rosuest and pinchot
OTeE S S, Dot
55213148170. e
John muir and wangal Maathai
PR auronb, sond drmedd
55213148171.
David Brower and Barry Commoner
GO8 (58, =6 =0s8
55213148172.

Question Number : 44 Question Id : 55213112266 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Developing Nations were commutted fo drawing up their own plans for the emission reduction

for the first time m

e T0LER) Taped 4TFT0 B10GH 85 $r08 (HemdSe doind & SirFddod® Moot



Options :
Cop-20 Lima Climate Conference

.

B, r B s sl e, . el - all”

NEa=20 Dae Horratits Jarado
=

55213148173.
Cop-19 Warsaw Climate conference
& =19 Troe Hoereites & Srad0
55213148174.
Cop-18 Doha Climate Conference
2e.2-18 P Homtes JErIdo
55213148175.
Cop-11 H}-’derabad climate conference
ded-11 Frioeerd HoeHde Sarado
55213148176.

Question Number : 45 Question Id : 55213112267 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The 2018 meeting of the G-7 Countries + k place in La Malbaie, Quebec, Canada and Donald
Trump administration officials even declined to use the phrase ‘climate change’ and instead talk

about
20186° e Srdirdh, 785, Sxeedt 20AS &-7 Do Sar3dodt ﬁ?mv ©0% ©lsd

=5
@&Per Dot Sr) OF Hed) PULPAS 859000, S0t atherr & %

Options :
Environmental resilience

Soeratios O mfan_]
55213148177. o



Sustainable Development

-

Ral(rday B
55213148178.

Ecological Economy

©0s Dot
55213148179. = -

Environmental Audit

Jorratoatore J0SEESo
55213148180.
Sub-Section Number : 10
Sub-Section Id : 5521311087
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 55213112268 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Today's Education system at higher education level is :

IO D I - SN DT %noaafﬁ & DFore &)

Options :

Supports traditional nature of teaching

Fodah S BEBD Doy
55213148181.

It is complex in reaching people

55213148182.



Imparts education according to social stratification

GeeloL-evt] ébé £ (@se8o DRotdol
55213148183.

Imparts same education to all strata of society

J3re06t) ©f Scre 08 e B 85305 SrS00%00
55213148184.

'L

Question Number : 47 Question Id : 55213112269 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Autonomy in higher education doesn't include freedom for the institutions in:

= :;u

ﬁé&e’ &:F“R.’r:@ Erdhded "‘"w‘@ﬁ ) &oéwﬁo =

Options:

Achnjnismﬁoﬂ

PO TOTED

55213148185.

Policy-making

HEseoRd Brarofiosto
55213148186.

Fimance

elsroTeeD
55213148187.

Curriculum development

iﬂm‘;m?u DseRdo
55213148188.



Question Number : 48 Question Id : 55213112270 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Environmental education is important for the students of higher education because

68 [LHR0D e dovEte: D Erangro QothERm?

o

Options :
to give them expert knowledge
DHSH JHee; HPrY) wolEcHRS
552131481809. '
to develop their awareness
BTN DOl oSS
55213148190.
to make them responsible for taking care of environment
QDoeites HOOFRH wrLid HirolteR8
55213148191.
to leave them with their own choice towards future environmental consequences
A8 HorStes HorESTFeN $020008 O Hrah efSSH S0DTahmDS
55213148192. = =

Question Number : 49 Question Id : 55213112271 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

NAAC is an autonomous institution under the aegis of:

Jraho (H858He S0 NAAC 50 86508° HOTND?
3]

Options :



8. 2. DR, wR.es8
55213148193.

CSIR

. . 0.8
55213148194,

AICTE

a.0.0.8.9
55213148195.

UGC

Bk = 2

55213148196, o0&

Question Number : 50 Question Id : 55213112272 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Ancient Gurukulas differ from modem residential schools m providing except th following :

Yo oo™ MthHerer BHS BEDH FTeed®d Boff W) e.58 &) Shdrare

EZE:O:OBSJ

Options:
Accommodation
C‘C—..n\rﬁu{-r:\cm

55213148197, o o
Knowledge
DRSH DoeeRo

55213148198.

55213148199.



Vocational skills

A
odn€d
- =

%

fed

Universal Access

8BS ©othoren

55213148200.

Group Number:

Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

COMMERCE

2
552131162
120

120

No

No

0

200

No

Cant View

No

COMMERCE

552131162
1

Online
Mandatory

100



Number of Questions to be attempted : 100

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 5521311088
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 55213112273 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Economic globalization is characterized by:
€388 DDV VL BIF HBOBIBY

Options :
Rise of regionalism
T oDEG DoNBw
55213148201. &3
Cross-cultural flows of ideas
DBRVNG H7By G TTErY D500
55213148202.
International trade and investment flows
e90BT"NI05) HGSo JBOIL DeLEILR DI
55213148203. =] = e
International migration
e30S3T R0 DD
55213148204. o

Question Number : 52 Question Id : 55213112274 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which one is not the main objective of Fiscal Policy in India?
& S8 T°835° DA 2ERAD G5 D Gjodo 5TE?

Options :
To increase liquidity in economy

e30E D90 TN BT 2oLy BV
55213148205, 6 "~ b @9§T°(~) 202D

To promote price stability

8o BS5EMA) e aTotd)
55213148206, To0 B ey

To minimize the inequalities of income and wealth

e33O0 0003 MoDGW mqﬁé éé@“é&um SHotod)
55213148207. ]

To promote employment opportunities

E8TITT VR J'T oot
55213148208.

Question Number : 53 Question Id : 55213112275 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Assertion (A): The NABARD was set up in July 1956 as a separate apex bank for financing
agriculture and rural development.

LA (A) : ::,S:Jb“cmo 208050 u“bsea“eﬁbagé DTN BDSy Erfo @Y 1956 &
TErQ oyt Bafeciod.

Reason (R): The RBI found it difficult to concentrate on the function of provision of
agricultural finance due to rapid increase in the nature and scope of its
central banking functions.

6o (R): RBI, & Sof) ePjoSofl gho aiwg) R(Erdo baiw 2088 ddorr

2dhdy sdtaT, abébb“oi) ugs 00 HIBEP icg ko sgm::

HB0tdod.
Options :
Both (A) and (R) are correct
Bots (A) 2080w (R) ©BHD
552131482009. s
(A) is correct but (R) is wrong
(A) 2838 == (R) &2y
55213148210.
Both (A) and (R) are wrong
Boct> (A) 208030 (R) 82y
55213148211.
(A) is wrong but (R) is correct
A) &) 520 (R) 2828
55213148012, ) SR SR (R) %9

Question Number : 54 Question Id : 55213112276 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match List-I with List-II and select the correct answer using the codes given below the lists
Fde — | 8 wdee - || 20T'Dy 0ok DT §oss B VeSTPVR GHATFAD PP

PATTH0 JotiS ol
List-1 List-1I
o - | Al |

1.  Abolition of unnecessary bureaucratic a. Industrial Policy, 1948

controls and a welcome approach to
foreign investments

BAIVO20D ©B50S dabhodeen 6@ FBTE Do, 1948
Baicio 2B BT DEVEICOVR
&Sﬁ@oﬁ Drdo
2. Acceleration of the rate of growth b. Industrial Policy
through rapid industrialization Resolution, 1956
3o FBTQSE6E (o aagaen:n FBT e dordo Agoddo, 1956
>iSoho B3atob
3.  Classification of industries into four c. Industrial Policy
categories for faster industrial growth Statement, 1977
DfiSodD0D 3"53"335"33;5@% Folel- bl I FOTWE AT HE0S, 1977

T QTR ;‘Jéédea Babdo

4. Prevention of monopoly and concentration d. Industrial Policy

of economic power Statement, 1980
HgrODS(e obokn BES 33 SofisdmOm FOFTE Ao HELD, 1980
©wbstito

g . Industrial Policy,
Resolution, 1991

FOTNS TR :)go‘.i}c, 1991

Codes :
Options:
T-E, Z-b, B-ar 4-'C
55213148213.
55213148214, 1 & 27C, 3-d, 4°b

55213148215, | 2 &7 3-d, 4-C



1-c, 2-a, 3-b, 4-d
55213148216.

Question Number : 55 Question Id : 55213112277 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Udyam Abhilasha, a National Level Entrepreneurship Awareness Campaign is launched by:

L8 >daD g‘w FOTNEIG VITTY prde S0 ‘Groh wdun @ 265)
EroBond.

Options :
55213148217, EXIM BANK

55213148218, SIDBI

55213148219. NABARD

55213148220, NEISBUD

Question Number : 56 Question Id : 55213112278 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The balance of payments of a country on current account is equal to:
28 3% S0t 5708 ﬁ@oi}_‘}&) 30 £:308 TrS DATDo

Options :



Balance of trade plus short term loans

5880 Doy Hdoin Doy 508 aweTen
55213148221.

Balance of trade plus net invisible exports

2050 DP.JS S0B03L AEE SADoTIR) DS
55213148222. —

Balance of payments minus capital flows

3oL Jo Aol APVED PI"o BIDS
55213148223. s

Balance of invisible trade plus imports

£ HGS o] Aol BrbdSSoL HHDS
55213148224.

Question Number : 57 Question Id : 55213112279 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

International liquidity comprises which four of the following:

Eﬂoe‘_’ﬁgéoﬁj QDﬁ% “@ﬂ)&@e‘_’@nﬁ& QG Gol.

(i) Gold held by Central Bank
So&d Erfos) DG AR worrdo

(ii) Dollar reserves of countries other than the USA
A0S STEr RAC BFTVS” WD) Trod BRI

(iii) Updated flawless software
e5°00 G & & %eﬁd 5":3 26

(iv)  Stringent Legal frame-work
SBABEROR T°Jodd STULiGERe
Options:

55213148225.



(i) and (ii)

(i) SoBos (ii)

(1), (ii) and (iii)
55013148206, 1) (1) 08080 (i)

(i), (iii) and (iv)
55213148227, () (i) 080 (iv)

(i), (ii), (iii) and (iv)

(i), (i), (i) 2083 (iv)
55213148228,

Question Number : 58 Question Id : 55213112280 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match List-I with List-Il and select the correct answer using the codes given below the lists:
Bt 9% §& © $5°60 DO DATEA) BN S A Totisd TrAS" 3D Aol

ae‘.’sbdaod :
List-1 List-1I
HedE - | RO
4] [4]
1. World Bank a. 1944

20t GFSOSJ

2. International Financial Corporation b. 1956
087008 PTYDY T°FFAD

3. International Development Agency c. 1960

0TSl 03B DBy
3 A

4. Asian Development Bank d. 1966

808 B3 tFjos
@
Codes::
Options :

1-a, 2-b, 3-c, 4-d
55213148229.

55213148230, | 2» €7C, 3-d, 4-b

1-b, 2-a, 3-d, 4-c
55213148231.

55213148232, | 273, 3°b, 4~ d

Question Number : 59 Question Id : 55213112281 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The National Consumer Disputes Redressal Commission shall have jurisdiction to complaints
where the value of the goods or services and compensation, if any, claimed exceeds rupees:

220D DATFATERR DTFER :Jﬁil“bd AN alog), A0 HBE SRPLY BAY VL I
D86 S0 Boryv 26 A AP Woldowd :

Options :
50 Lakh
EO wgew
55213148233,
75 Lakh
55213148234, | ° PE
1 Crore
55213148235, &S 8O
2 Crore
Bocl §'en
55213148236. 2

Question Number : 60 Question Id : 55213112282 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A):  Social audit is a systematic study and the evaluation of an enterprise’s
social performance, as distinguished from its economic performance.

D80J (A): T escd a8 UGN wdﬁoﬁéo 00B0dw 28 “'n)c‘rg as), Foand
HABGHR ags 0 BAL G ot Do,

Reason (R):  Social audit becomes necessary, as every enterprise has obligations to its
owners, creditors and employees.

0o (R): 20 R:o‘{g 3 0DRATAVE), RSV QBN a$5mv 28 wd{g@vm

$Dh )00 s BA et 9HR0B.



Options :

Both (A) and (R) are correct

Boc (A) 208ai (R) 263
55213148237. 2

(A) is correct but (R) is wrong

55213148038, A PIR8 5 (R) &2

Both (A) and (R) are wrong

55213148230, 2ot Ak SuBat () &5y

(A) is wrong but (R) is correct

55213148240, M) 830 SR (R) 2326

Question Number : 61 Question Id : 55213112283 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The four principal qualitative characteristics of useful financial statements are:

) AdBSL awg) MEFS)S LEEFV HBoL) IAWPTIS BRBB Teur Argen :
Options :

Understandability, relevance, reliability, comparability

£9Co0 RS Aok, f-aﬁﬁﬁ;;gm, oo, ﬁ&ﬁ“maa
55213148241. @ @

Timeliness, relevance, reliability, comparability

DB REFVS, DB DL, ADEGS, 28’ e0ye
55213148242. @

Understandability, relevance, accuracy, comparability

0o SRSV, PO DL, D S0, LB LN
55213148243. ©



Understandability, relevance, reliability, simplicity

900 TR0E K08, PBI L), AVTES, OBBGo
55213148244. ® @

Question Number : 62 Question Id : 55213112284 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Triple bottom line accounting is also called:
Sorch eacardy B (Triple Bottom Line) ©5°0&doh &0 & 8o Sre Dﬁb#&@“do.

Options :
management accounting
QE(er 9S"080h
55213148245.
full cost accounting
Q70 Do sTotdoh
55213148246, O = 3 =
historical accounting
o0Trd) S
55213148247. R 2kl
incremental accounting
QoSot)ed S 0oh
55213148248.

Question Number : 63 Question Id : 55213112285 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the list - [ with List- II and select the correct answer using the codes given below the

lists:

20T~ | § @de - || 20Ty Dia #de Gots BIWED DoSEUd) AN RN

2aTENN) BN

1. Abusiness firm is separate and distinct

List-I
> - |

from its owners.

24 J’?Sﬂ“d “coofg &% QL ATR ol

OB(E2R6 Hdaty D) 2006

2. Distinction between an expenditure,

whose benefit will be for a long period
and whose benefit for a short period of say

up to one year.
28 Sjao & 39 Ao\E HaIrado

&g?va FhD Sotnol, HBoin SON

S0 2D &30t 28 "a}o;ﬁejr)do RN

oot T8 6] TR0k BB

3. Entirelife of a business entity is divided
into shorter time intervals, say of one year

w8 T R0R) 0g) Awdo 2T

[

RLRY 50 IRV, o) 28 Do Jo ¢

BTSN VTR

4. The accounting equation, ‘Assets= Capital

+ Liahilities.

S otlof DRVSER0, BV T AFVGRO +

20963 wﬂcﬁ,gejw”

Options :

55213148249.

55213148250.

55213148251.

1-e, 2-b, 3-3, 4-c

I-e, 2-¢,.3-d, 9D

1-b, 2-c, 3-3, 4-d

List-11
oA L g ||

Accounting period
principle
©$08o 50 Ardo

Business entity principle
J"?Sﬂ“d “@o‘rg Ardo

Going concern principle
o) 26568 §% Fho)

ardo

Dual aspect principle
(3od( 5705 Argo

Conservatism principle
Soé&ﬁsﬁa&o ardo



55213148252.

I-c, 2-a, 3-b, 4-d

Question Number : 64 Question Id : 55213112286 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following accounting standards is recommendatory, not mandatory?
308 THS" D B otiofl PATH0 VUTFETFALENG SN By VO,

Options :

55213148253.

55213148254.

55213148255.

55213148256.

AS-1: Disclosure of Accounting Policies
295 oo LT T LA m::ngau 305008

AS-2: (Revised) Valuation of Inventories
(;ﬁfﬁ:}&. BB ) S0a :Jm“g“u LIV QTBotide)

AS-3: Cash Flow Statement
AAC DTt Da&E

AS-4: Contingencies and Events occurring after the Balance Sheet Date
es?g ~ By DB daird, B8 ed0dto 2002 BoffodusTa) B MoLIDLN

Question Number : 65 Question Id : 55213112287 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Assertion (A):  Valuation of stocks is done by a business firm at cost price or market price,
whichever is lower basis.
PEOD (A): S Devdiy, XD 66 I TR GOVY DB 89,28 TR oot

2001HE008.

Reason (R):  The convention of conservatism stipulates that “anticipate no profits and
provide for all possible losses” in carrying on business operations.

56630 (R) : 353“6 ?dﬁé@&vm EXT R0’ eraroR) Giaroriol, wbl g5
S0 DBASORIBT Foras Ardo APV,

Options :

Both (A) and (R) are correct

55213148257, 006 (A) 0cdn (R) 253D

(A) is correct but (R) is wrong

55213148258. (A) 2956 570 (R) o2,

Both (A) and (R) are wrong

Bocd> (A) S0baiw (R) SN
55213148259.

(A) is wrong but (R) is correct

(A) 82y 57 (R) 0036
55213148260.

Question Number : 66 Question Id : 55213112288 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Assertion (A):  The angle of incidence is formed at the intersection of total cost line
and sales revenue line and it indicates the profit earning capacity of

a firm after it crosses the break-even point.
0503 (A): Awdo Hjad T Bain Q50irY TG GL) PoGotS N Do)

écé;) “3rofe) €50 "&'D:]i.f);)" SJCi:]d oY - r‘é'g{ Gard Dot ST
Do CIE), PHEONE FTD) AP,
@ 5 =

Reason (R): The degree of angle of incidence indicates the rate at which the
company earns profit after it crosses its break-even level of
operations.

om0 (R): w8 Do &9 &% ~ 8 6ord SEETTY Fand i SNTY, ©d

5808, €7aPR G0 BN 8D ANEDY gﬂmz ATPDA.

Options :
Both (A) and (R) are correct
Boc (A) H08adn (R) R3AD
55213148261.
(A) is correct but (R) is wrong
A) 2858 570 (R) &2
55213148262. () e ) "2
Both (A) and (R) are wrong
55213148263, 00 (A) Ba (R) &2y
(A) is wrong but (R) is correct
A) &2y T2 (R) 2008
55213148260, ) SR T (R) 90

Question Number : 67 Question Id : 55213112289 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Provision for taxation was Rs. 45,000 on 31-03-2018 and Rs. 30,000 on 31-03-2019. Income
tax of Rs.25,000 was paid during the year. How much provision for taxation is made during
the year?

31.03.2018 T 6. 45,000 5:0) Doy SeREIB. 31.03.2019 T &r. 30,000 Dy
Doy B & Roddydod’ el DY &R, 25,000 BPeSERRG. Lavd & 6B
o9\308" o 2005 Do) Doy oS H6.

Options :

Rs. 10,000

55213148265, o 10,000

Rs. 25,000

55213148266. O £3,000

Rs. 30,000

6. 30,000
55213148267.

Rs. 45,000

ar. 45,000
55213148268.

Question Number : 68 Question Id : 55213112290 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



List-1
20 - |

(Accounting Conventions)

(@obdoh) Fodmrolrew)

Consistency
i‘JCS@So
®

Comparability
wd@méej

Conservatism

sgése?)asﬁ)

Disclosure
&Jbﬂgeﬁo 3030k

Codes:

Options :

55213148270.

55213148272.

Match the List-l and List-Il and select correct answer using the codes given below:
20058 B & Bocts B 0 90 ol 280 2N :

List-1I

e - I

(Principles Involved)

(Prgro @)

Losses are anficipated and accounted for in advance but
profits are not accountedfor until realised.

SarOR) A00GUIT ot 30 AArdd Bakob,

IR Srgo SN ArdD H3rch St

All the relevant financial information should be
summarised and presented in accounting statements.

wb,l DR 30 ©F ool DATET) Vof)
082) 208050 BT otloh JDAEVE” Tod) DEDk0

Accounting procedures in an entity should be followed
uniformly from period to period.
K}o'g aos) 05 ool DETFTPOR) BT

SEPEOT DE8yd0 Btk

Accounting statements of different periods of an entity
and those of different entities of a period should be
based on the same accounting principles and
procedures.

"a}o‘rgﬁ) Notlofiow) DG SUrVS) 8 otloh
Ndas0M daird datoed’ o) oD 28 8o
5 otloh AFEURD 280N AT JFodto

1=, 2-c,3-a; $-b
55213148269.

i-c; 2-d, 3-a, 4-b

1-d, 2-c, 3-b, 4-a
55213148271.



I-c; 2-d. 3-b. 4-a

Question Number : 69 Question Id : 55213112291 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

When margin of safety is 20 per cent and profit-volume ratio is 60 per cent, the profit will be:
:u“gé (1% i‘fg 20 T80 0N, U7 DBATR0 D‘:’qb@ 60 Tdo &)\ &°do Jodd

&otol) ?
Options :

30 per cent
55213148273, SO T

33 1/3 per cent

2 |

33— 3o
55213148274, 3

12 per cent
55213148275, 12 ¥ 9O

10 per cent

10 ==do
55213148276.

Question Number : 70 Question Id : 55213112292 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The process of converting foreign-subsidiary financial statements into the home currency is
known as —
263 wddavdey GITEE Adaco @R ONE ardy B 968, & dgor

Digb#b?dn.
Options:
Transmission
55213148277. &lﬂﬁﬁ
Translation
-:DPdQﬁJG
55213148278.
Consolidation
55213148279, PG00
Reconstruction
D)0 £3a520
55213148280. = %”

Question Number : 71 Question Id : 55213112293 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The concept of supply curve as used in economic theory is relevant only for the case of;
s ?aguaefeovﬁ‘ ) 5% B & 0B ‘ri)oCSU"amﬁﬁ DAATAF .

Options :

Oligopoly competition

HODED &Sméa
55213148281.



Perfect or pure competition
RoRIS T 308 T3S0

55213148282.
Monopolistic competition
DS (B0] TESS 0
55213148283.
Monopoly
DEJ¢H0fo
55213148284.

Question Number : 72 Question Id : 55213112294 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

If the demand for a good is inelastic, an increase in its price will cause the total expenditure of
the consumers of the good to:

WEIY W8 S S Gdrol @aﬂsgéo ond, S G dAMEL SEReT, WY

DO hL Ando S{odog XPo :

Options :

Increase

55213148285, OGOV

Decrease

Sodw
55213148286. "

Remain the same

QTG oTT Sotiob)
55213148287.

55213148288.



Become zero
wrﬁso 29: 9008

Sub-Section Number : 2
Sub-Section Id : 5521311089
Question Shuffling Allowed : Yes

Question Number : 73 Question Id : 55213112295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

An individual demand curve slopes downward to the right because of the:
S{S0S C.ATok B L6 ADL TV SO0

Options :
Working of the law of diminishing marginal utility
£630t0e0) &ret DT DA VOV I
552131482809.
Substitution effect of decrease in price
;_:gaﬂﬁaﬁrrlo:b Do DD B8 SBrodw
55213148290. i =
Income effect of fall in Price
55513148007, STTOD Do DO 6 Lo
All the opions
@bl
55213148292.
Sub-Section Number : 3
Sub-Section Id : 5521311090

Question Shuffling Allowed : Yes



Question Number : 74 Question Id : 55213112296 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the List-I and List-I and select correct answer using the codes given below:

PO -l v rde =18 TR B, rdTY S0 QU VSTV ST DBAL

2T HBotdok :

List-1 List-II
Do - | o - I
1. Various combinations of two commodities 3. Indifference map

that a consumer can purchase Emr3e Bt
28 AA@rATdc S o ot

P DG M FT

2. Various combinations of two commodities p.  Indifference curve
that give consumer equal satisfaction ET0d 3¢ B
DA DI DoByD By Fot

DY DG W0 FTe0
3. Asetof indifference curves ¢.  Budgetline
28 6T RN S58p0 HA BES I3

4. Pointoftangency of abudgetlineandan ¢, Consumer's equilibrium
indifference curve NABFETED gg;‘_;_)mg_;égj
WG TS 2Bk &I M50 600

ﬁﬁSngﬁm
Codes :

Options :

1-b; 2-¢, 3-d, 4-a
55213148293.

1-d, 2-c, 3-b, 4-a
55213148294.



55213148205, | 2 &7, 3-d, 4-c

1-¢, 2-b, 3-3, 4-d
55213148296.

Question Number : 75 Question Id : 55213112297 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which three of the following characteristics apply to oligopoly?
2 Aordotdd eirov 3“5;5.35 VLTV B Vofdo BOHIW,.

i.  Afewlarge firms account for a high percentage of industry output
orer §8 D3 doden ©ie T8 JFOFTAS GG oo

ii.  Many small firms account for a high percentage of industry output
©is D) 'rbo"%}w OE TohoeS” FBFTE &G Baboe

iii.  Theindustry is often characterized by extensive non-price competition
(5880 TBD St B S H83%

iv.  Each firm faces a downward sloping demand curve
23 "n}o"%} 303 mwm.%l GaArel O Qd)gajomoﬁ

Options:

(i), (ii) and (iii)

(1), (ii) S08a%o (iii)
55213148297.

(ii), (iii) and (iv)

(ii), (iii) 0Bt (iv)
55213148298.

(i), (ii) and (iv)

55213148200, Oy KR} EBEGIN )



(i), (ii) and (iv)

55213148300, ) (1) 08030 (iv)

Question Number : 76 Question Id : 55213112298 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which two of the following assumptions apply to ‘kinked-demand’ analysis in oligopoly
markets?

ROV ([ S5 S8 & Galrolt DEY SiBold D Dot Hoakren HOFaN?

i.  Rivals will raise prices in response to the firm'’s higher prices
mo’g RS A0V VATV Féderdoen P ISVEALIVINIIAV 20V

ii.  Rivals will tend not to raise prices in response to the firm's higher prices
;bo:g B0S Q0L VAT Féderdoen 2R Q0L Hotdd)

iii.  Rivals will reduce prices in response to the firm's lower prices
R0%) B8y S G0 AAFT Do Yderden AR (oL éﬁ@“d)

iv.  Rivals will tend not to reduce prices in response to the firm'’s lower prices
‘rbofg 952 GOV NAFTFoT Tderhe DR (0L BNochd)

Options :
(i) and (ii)
55213148301. M) SRR (i”
(ii) and (iii)
(i) Sodasx (iii)
55213148302.

55213148303.



(i) and (iii)
(i) 20803 (iii)

(iii) and (iv)

(iii) <0dadw (iv)
55213148304.

Question Number : 77 Question Id : 55213112299 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : According to principle of diminishing marginal rate of substitution, one
commodity must be decreased while the other is increased.

28LY (A) : ) Q@“é;ﬁflo‘.i) Bt 95700, DTS SAP DoWAYE 28 SN
@ﬁmr@.

Reason (R): According to principle of diinishing marginal rate of substitution, the
commodity which is decreased has higher marginal significance.

w600 (R): 46 Frod QEjAr) 0 B Ardo P5°do D S0 wowd éﬁ)&)oﬁf T

&od gmp QLS Gotody.
Options :
Both (A) and (R) are correct
Boco (A) 208030 (R) 280D
55213148305.

(A) is correct but (R) is wrong

A) 2BHE 5= (R) %
55213148306. Vi) e : ")



Both (A) and (B) are wrong

55213148307, 2o UM sBao (B) sy

(A) is wrong but (B) is correct

55213148308, A FR0) SR (B) 200G

Question Number : 78 Question Id : 55213112300 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Monopolistic competition characterizes an industry in which many firms
offer products or services that are similar, but not perfect substitutes.

DEOA (A) 1 28 203G’ 03¢ :oo;gu} 8050% DV, VOJPIR HE°(r) alren
T80, BoBFadto (grQos| T vgaorr ByGo 20M0d.

Reason (R): In monopolistic competition, barriers to entry and exit in industry are high,
and the decisions of any one firm directly affect those of its competitors.

600 (R) : hErandy D" 2830 Hd%0 SbaL AyHvE eGofR) Iy I
GodhS o, BT wf Rod SWED arv wrde AT @I

Verrsovn Gotnod.
Options :

Both (A) and (R) are correct

Soc (A) &0daiw (R) R5HD
55213148309. %

(A) is correct but (R) is wrong

(A) 2858 = (R) S
55213148310.

Both (A) and (R) are wrong

55213148317, 000 (A) oBaind (R) ey



(A) is wrong but (R) is correct

A) 9y 529 (R) 2096
55213148312. (A) 62y (R we

Question Number : 79 Question Id : 55213112301 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the List-I and List-II and select correct answer using the codes given below:

- 0FdT -8 K}@iﬁﬂengoﬁr, PATV S08 farba.b 03TV BEdoT DB

2T HBotseC: :
List-1 List- 11
-1 e - ||
1. Liquidity preference theory a.  John Maynard Keynes
@I(E" TERS NFedo & AT &53
2. Revealed preference theory b.  Marshall and Hicks
Aoy @fcmﬁé NEodo Srge Mdokn oy
n @ ol
3. Marginal utility approach ¢.  Alfred Marshall
Grod DOrRN Do BTG GO
4. Indifference curve analysis d.  Adam Smith
&I v DR e3¢ fa&efo
E. Paul A. Samuelson
TG 2. T[S B
Codes:
Options :

1-a, 2-e, 3-c, 4-b
55213148313.



I-d; 2-€,3-b.4-3
55213148314.

55213148315, |2 70, 3-&, 4-C

i-c, 2-b, 3-a, 4-d
55213148316.

Question Number : 80 Question Id : 55213112302 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The marginal cost (MC) curve intersects the:
EJroch ;5?50'.53 B2 S)orT B;Jo&.‘j_n}}:::-&

Options :

AVC and AFC curves at their minimum points

AVC 208030 AFC Saver % Do DG
55213148317. i

ATC and AVC curves at their minimum points

ATC 2080520 AVC Saren ¢ SR Do) S¢S
55213148318.

ATC and AFC curves at their minimum points

ATC 208050 AFC Baen T°¢8 S Doy H¢
552131483109. -

ATC, AVC and AFC curves at their minimum points

ATC, AVC 208030 AFC Saen o8 820 Dotded) S
55213148320. = ol

Question Number : 81 Question Id : 55213112303 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

If the nominal rate of interest is 10% per annum and there is quarterly
compounding, the effective rate of interest will be:
2EDY VoIHTIS TRATSY 36 60 10 Tdo ol DO PArLTAS g da

980 F68 56, Bew -
D 05 6

Options :

10% per annum

"n:aoaﬁej:jmﬂjé 10 %
55213148321.

10.10 per annum

‘éacbe:&;jﬂ“.:}é 10.10 %
55213148322

10.25%per annum

QDodS\oS 10.25 %
55213148323.

10.38% per annum

“‘nac;ﬁejbmﬂ}é 10.38 %
55213148324,

Question Number : 82 Question Id : 55213112304 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Dividend policy of a company is mainly concerned with:
28 S0 ), EDEeE Dirdo VOS BWE Gotnod.

(i) Dividend Payout Ratio, and
EDEot Bdolpe QB
(ii) Stability of Dividends
CDE oS fgﬁgdm

Options :

Only (i) is correct

(i) soraddn oo
55213148325. e

Only (ii) is correct

(i) saoredeay comrdo
55213148326. ®

Both (i) and (ii) are correct

(i) 208asw (i) cdoordo
55213148327. @

Both (i) and (ii) are incorrect

(i) Sodadw (i) &o oiam“go =9
55213148328.

Question Number : 83 Question Id : 55213112305 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The common stock of a company must provide a higher expected return than the
debt of the same company because:

28 ondd  Bd dmo Zofl, %) Fron FO S GodT I3 Tl
:amwﬁ. 098 dotSol)



Options :

Less demand for stock than for bonds

eol @ ot JrHw) S8, Aol
55213148329. 7

Greater demand for stock than for bonds

EPol @ o) JrLOL 9dE ATl
55213148330. =

More systematic risk involved for the common stock
EPOE FLOVD HHVSS DL FoWo IS, ST Gt
e3 o [}

55213148331.
Market premium required for bonds
erol. 0 SI°0) 8 2ao 535S
55213148332.

Question Number : 84 Question Id : 55213112306 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match List-I with List-II and select the correct answer using the codes given below the
lists:
20068 AR Bokd &’ WBALD BTELAY KBt BRINOETAOIAD :

List-1 List- 11
dar- | dar - I
1. Matching Approach a. Dividend Policy
28 D I EdGok Fud
2. Structural Ratios b. Inventory Management
Aoy e 8 A ydoww TR0 JOE
3. Economic Ordering Quantity ¢. Working Capital Financing
TrHEras 86 H0Aro QOGTE PVER G(8) 58
4. Bonus Shares d.. Capital Structure
&' TP Jaruld o7 o
Codes :
Options :
1-a, 2-b, 3-c, 4-d
55213148333.
55213148334, | ¢ 279, 373, 4°b
1-c, 2-d, 3-b, 4-a
55213148335.
1-b, 2-a, 3-c, 4-d
55213148336.

Question Number : 85 Question Id : 55213112307 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



If a firm has a DOL of 5 at Q units, this tells us that:
28 Foo‘*%} QoA ¢ DOL 5 &) Howas, vd BOoHWAIG :

Options :

If sales rise by 5 per cent, EBIT will rise by 5 per cent
£513148337, X OF 0S50S 57 5,8 &) ©and EBIT & 57 dodée

If sales rise by 1 per cent, EBIT will rise by 1 per cent

2,8 ¥ 0 5e” 17 58 &) eand EBIT &° 1% Do
55213148338. & =

If sales rise by 5 per cent, EBIT will fall by 25 per cent

28 DY 02050 5% 30 &) Lond EBIT &° 25% Sed
552131483309. = 4

If sales rise by 1 per cent, EBIT will rise by 5 per cent

2,8 DY 00 50" 17 58 &) ond EBIT &° 5% Do
55213148340. - ”

Question Number : 86 Question Id : 55213112308 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If EOQ = 360 units, order costs are Rs. 5 per order, and carrying costs are Rs.0.20 per
unit, what is the usage in units?

wSa¥ EOQ = 360 cfrdtw, ©gBoh Hjao &gds 6r. 5 doi Nleeo: fodo
6. 20 38 28) 088 S DT Aot AP A ?

Options:

1,29,600 units

1,29,600 aiarrew
55213148341. o

55213148342.



2,592 units
2,592 magp

25920 units

25,920 cdordLw
55213148343. £

18,720 units

18, 720 cdardew
55213148344. &

Question Number : 87 Question Id : 55213112309 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match List-I with List-II and select the correct answer using the codes given below the lists
T - D FdT -l & ;ﬁJ"ézS BAP, ATV S0 fa%é 03TV BEEGelT VOV

220N (1dBoted :

List-1
Do - |

1. NetIncome Approach
Q8 ol ‘?ag'oﬂo

2. Net Operating Income Approach
Q86 e5580h e3Trad fotg’o@o

3. Traditional Approach
Foprabs bg"oeﬁo

4. Modigliani and Miller Approach

=

List-II
Do - |

Value of firm can be increased or cost of capital
can be decreased by a judicious mix of debt and

equity.
OB e 2Bk &8 PG

HVERS o (o ’coo:g a0E), REIVREN 20ot33u0y
S r0R 55"1"’3.1 @gomamam

Value of firm is not affected by changesin
capital structure bring change in overall cost of
capital

PG I07008° Ird S SN HOTH)
D0 Wothtd

A change in capital structure will and value of
the firm.

Larosd Jth:“J_)’e'.)c:ﬁ‘5 A7 Ey00 Ko aRE),

@
20r0ed oo Hdokn “:o::‘rg denderes®
SrELS TBAI O

Overall cost of capital and value of the firm are
independent of its capital structure and they
are constant for different degrees of financial
leverage.

‘:oofg o) e AdalL T Arodd
é}go:irbé A80dn Arod Dcuéea“:)é ot
Rotiotio ). &5 G ;23‘3301395 5502

FOVL) & DT EobToN.
@ @ @

A 280k Db Do
Codes :
Options :
1-a; 2-b; 3-¢c; 4-d
55213148345.
1-c, 2-b, 3-a, 4-d
55213148346.

55213148347.



1-c, 2-d, 3-b, 4-a

1-b, 2-a, 3-c, 4-d
55213148348.

Question Number : 88 Question Id : 55213112310 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A):  The degree of financial leverage (DFL) measures the sensitivity of earnings per
share to the changes in earnings before interest and taxes and it emanates
from the presence of fixed financial charges like interest on debt of a firm.

Q803 (1) 3¢ S0B0to Doy BBoputh 6o 318y e’ (EBIT) Sy Xty
SR éaésefﬁ T wg ol by wmade (EPS) Bod werad) G 6
DTN ahE e Seorwod. 2,8 ’foo‘fgvﬁ‘S 2O0R 608 J(0iren, & : HoR) &
dorrop Bhoth Seerotls), Godto SR G B PTAANS Bte 68 &'
08,

Reason (R):  The DFL will have a magnifying effect on earnings per share when the firm's
return on investment and its cost on debt are same.

w6mo (R): 8 "a}o’cg 30 DIV NorBod B Gw (ROI) H0body 8% e

B 80 RArdRRY@, DFL Ter 28088 serabop 26 YT

&9h Gotwod.
Options :
Both (A) and (R) are correct
Gocd (A) &Ho8adw (R) 2T
55213148349. =

(A) is wrong but (R) is correct

55213148350, OVERDH, (R} RPEI0



(A) is correct but (R) is wrong

A) 2858 (R) &2
55213148351, (8) 2055 (R) D5

Both (A) and (R) are wrong

Boc (A) Hodaosw (R) SN
55213148352.

Question Number : 89 Question Id : 55213112311 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A firm's inventory turnover (IT) is 5 times on a cost of goods of sold of Rs. 8,00,000. If
the IT is improved to 8 times while the COGS remains the same, a substantial amount
of funds is released from or additionally invested in inventory. In fact,

28 o Gy, A(e0d 8B)36 6r. 8,00,000 BAyd S Sabep 5 By,

@ r T e [a!
263¢  M(ewd )36 8 Benrr goc D IR Ijoho AT o) T
ded” Ddoddy D G wdder  AERdS  Diwed  abedor

Options :
Rs. 1,60,000 is released
dor. 1,60,000 e Q&G €905I°(00
55213148353.
Rs. 1,00,000 is additionally invested
G, 1,00,000 9633 deweact
55213148354, =
Rs. 60,000 is released
55213148355 doe. 60,000 en D&ode €905T°§ 00

Rs. 60,000 is additionally invested

6. 60,000 e @0 DEWLIC
55213148356. s



Question Number : 90 Question Id : 55213112312 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

With a capital lease, the amount recorded on the asset side of the balance sheet is:
Suroed Der 503, 3 — ey HH6° e DY SArd B evd

Options :
the current fair market value of the asset being leased.
D, o
5513148357, e QD 9 DA D200 3570 65 Jewad
the current fair market value of the asset being leased minus the expected
residual value.
D> ady® 52 Ded ol £DS w0 ST DA Dewdio SBDasrr
SRS DR0S Qa0 ST 8 Dewd
55213148358. = = J
the present value of the minimum lease payments over the lease period.
Dz 0065 B3DoDD €90 Dar Hrd Jensd
552131483509. " @
the present value of the maximum lease payments over the lease period.
Der 50065 3D (187 Do Hd Dend
55213148360. s = »

Question Number : 91 Question Id : 55213112313 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The mean of a distribution is 23, the median is 24, and the mode is 25.5. It is most
likely that this distribution is:

w8 o U7 o?msb At 23, mawm 24 HBoin euvse 25.5 emn::ggona

F6e0TT D2PB0 & $06 Dol Eod;ﬁtﬁ)a :

Options :
Positively Skewed

GBS P00
55213148361.

Symmetrical

He
55213148362. =

Asymptotic

55213148363. BT Rde

Negatively Skewed
2DEFD) S D0
55213148364.

Question Number : 92 Question Id : 55213112314 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If “time” is used as the independent variable in a simple linear regression, then which
of the following assumption could be violated:

FTEon OGN 286" wrs vur? & Serd) IAAIrAot) dowd, & B
2a00d0 Foff DERE.

Options :

There is a linear relationship between the independent and dependent variables

"coséog;’!; 200030 B3Trd dootivw &5.)&55 rﬁJérl 6% DA okt
55213148365.



The residual variation is the same for all fitted values of Y

Y aiwsg), 'E'.‘Jb;[ 200D Densde £ otdd WADD D3deo DA Do
55213148366.

The residuals are normally distributed

55213148367, AHDD Dewde) 88 Jrorden Jerassen aMSd

Successive observations of the dependent variables are uncorrelated

S0 BUT RV STS Dedw DI VoLorY 59A Gottd)
55213148368.

Question Number : 93 Question Id : 55213112315 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A):  Sampling error is a statistical error that occurs when an analyst does
not select a sample that represents the entire population of data.

D803 (A) : 28 DFQD, Ado 2P0 AN 1O BT othof H1Y
R02od (feTes I, 18 BOHD Biror ByHEN.

Reason (R): Sampling error can be reduced to ‘zero’ by randomizing sample
selection and/or increasing the number of observations.

sodgo (R) 28 SabT) oird)dys ;’xg@é‘ NsBotico Tr(T Bk / I

HAB0HY DI “@oaasm Dotdto T(T" DS S:}“D‘l )

£ SHordIci .
i
Options :
Both (A) and (R) are correct
Goc (A) Hobadn (R) 2050
552131483609. i

55213148370.



(A) is correct but (R) is wrong
(A) 28256 == (R) Sy

Both (A) and (R) are wrong

55213148371. Bty (/1) Suoi, () Ej“'aﬂ

(A) is wrong but (R) is correct

(A) Sy 5 (R) 2856
55213148372.

Question Number : 94 Question Id : 55213112316 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The percent of total variation of the dependent variable Y explained by the set of
independent variables X is measured by:
Rqdod TR X D:3Bet)d esard to 073 Y ' derdrry E0i36 -

Options:

Coefficient of Skewness

ﬁfqm5 oeaso
55213148373. *—

Coefficient of Correlation

A2 Rokledd DRSS
55213148374,

Coefficient of Determination

QTrded fomsSo
55213148375. @

Multicolinearity

200 £ o8
55213148376. =



Question Number : 95 Question Id : 55213112317 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In calculation of correlation - match the List-I and List-1I and select correct answer
using the codes given below:

R DoLoiT) ﬁé@}cr;’:doeﬁ‘, FOT — | & Fder -l o Ky@fﬁmzﬁpﬁjﬂ &0 'at'.)t)é
§& © BrTGor ROALA 2TENR) MBI

List-I List-11
D - | e -l
1. Scatter Diagram a. Actual figures
), 06 Bar Do TR Vo
2 Pearson Method b. Graphic method
& o e v
ooj)db.fs ag@ TS acg@
3. Spearman Method e Ranking
YD) G T"foSofl
Codes :
Options :
I-a; 2-b; 3-¢
55213148377.
1-b; 2-a, 3-¢
55213148378.
I-b:2-c; 3-a
55213148379.
=g 2-b; 3-8

55213148380.



Question Number : 96 Question Id : 55213112318 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A):  In statistical hypothesis testing, a Type I error is the failure to reject
a false null hypothesis, also known as a "false negative" finding or
conclusion.

2503 (A) feros 2050y9 DBYE, SR\ APy DBSVYOD BBBaisEes’
Dowo BodR) TYPE = | 6o 2By, 6D ‘B
20870’ nfoR) o 87 do & SrET DT .

Reason (R): In statistical hypothesis testing, Type Il erroris the rejection of a
true null hypothesis, also known as a "false positive” finding or
conclusion.

=60 (R) feFos DOSVYD 2048°, daod G E ei?ﬁ%}ﬁ&mﬁc:ﬂbl
TYPE = Il & 20me 580830, 6D LN FRSFY" A0feRy) T
3T B0 0 &P DT

Options:

Both (A) and (R) are correct

Bocd (A) &H0dadwn (R) 2T
55213148381. o

(A) is correct but (R) is wrong

(A) 28238 52 (R) &y
55213148382.

Both (A) and (R) are wrong
55213148383, 00 (A) 2000 (R) 82

55213148384.



(A) is wrong but (R) is correct
(A) &y == (R) 2p8

Question Number : 97 Question Id : 55213112319 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The number of patients treated in a dental office on Mondays was recorded for 11
weeks. What are the mean, median, and mode for this set of data?

5,17,28, 28,28, 15,13, 18,10, 16, 20

w8 GodTO" 11 o0 TT 0o T Bre D88y 2003 dgroto & Sobd

QT &obd e, mcﬁéd@o 200050 WTVFETY DI o ?
5. 17,28 28 28 15 13 18.10. 16, 20

Options :

mean 17, median 18, mode 28

~0en 17, mcﬁérﬁe‘_ﬁc 18, exsmo¥so 28
55213148385.

mean 18, median 17, mode 28

st 18, mtﬁéde‘_ﬁo 17, e0iPo¥sSo 28
55213148386.

mean 16.5, median 18, mode 28

~en 16.5, m{;’)?aﬁejo 18, 2xio¥so 28
55213148387.

mean 28, median 17, mode 18

e 28, mﬁﬁsrﬁeﬁc 17, 2irovse 28
55213148388.

Question Number : 98 Question Id : 55213112320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

According to the empirical rule, approximately what percent of the data should lay within u + 2 ¢?
0088 Ao 25Go Jod DEL (TFodo |11 20 L S0 Eobod.

Options :
68 percent

55213148389, ©8 T&°

90 percent

90 T=¢do
55213148390.

95 percent

55213148391, 2° T 20

99.7 percent

99.7 T=do
55213148392.

Question Number : 99 Question Id : 55213112321 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the List-I and List-II and select correct answer using the codes given below:
T - | HFde -l BoFenr TR Soid FND §& v eErtorr OGN

2J°ENAD (1HBet.
List-1 List-1I
o - | 0o -l

1 Probable error

ja']

- \[bxy byx

Rogrdy B

2. Standard error b. 1-r3/N
Fards S

3. Correlation ¢ 2/3 1-r}VN)

NaF Noklolo
Codes :

Options :
55213148393, |~C: 2-b, 3-a

55213148394, |3 270, 3-C

1-b, 2-c, 3-a
55213148395,

55213148396, | P 273 3°C

Question Number : 100 Question Id : 55213112322 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Two standard dice are rolled. What is the probability that the total of the two dice is less
than 67

00t FArHE FLELR DB, Ado D6 Boky FDEL Dewsw Q0o “6” S0l
ST Sedy *&:oa,méa doth 7

Options :

[

55213148397.

55213148398, 2°

55213148399.

55213148400, 18

Question Number : 101 Question Id : 55213112323 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which one of the following formulae is used to calculate "Cross Relationship” under
principle of span of control?

Do HOBES" 26:0y6 Vozorr) ST 00 DAIrhed 1rdo BrbS THS' DB?

Options :

55213148401, N (n-1)

55213148402, 1 (2n/2-1)



55213148403, N (Zn/2+n-1)

+ -
55213148404, " (2111 1)

Question Number : 102 Question Id : 55213112324 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): High morale always leads to high productivity.
LA (A) 1 ©dS ?Sdigc DUDEr 0BS GTT\Es3% T8 BR00B.

Reason (R):  High morale need not necessarily lead to high productivity. Of these
statements:

080 (R) : g x50 2,200 668 aomBsss 0 Sared 6.

Options:

Both (A) and (R) are correct

Bocs (A) 28030 (R) H0HD
55213148405.

(A)is correct and (R) is incorrect

55213148406, (M) 0928 53 (R) 82y

Both (A)and (R) are incorrect

Soco (A) 20805 (R) &2y
55213148407.

(A) is incorrect and (R) is correct

(A) 3Dy 5 (R) 2828
55213148408.

Question Number : 103 Question Id : 55213112325 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The essence of the statements, "Work expands to fill the time available" and "An
official wants to multiply subordinates, not rivals” is made known through:

“woid D00 BETGOMT D DAHAE", BT VPGV Bl B,
3050 T6). D88 H080B00P8 :

Options :
Parkinson Law
SEORSEUSIRSS LS
552131484009.
Demand Law
GATol Ao
55213148410.
Pollayyana Principle
55213148411, = O RArge
Talcott Principle
gred 578 ATrdde
55213148412. =

Question Number : 104 Question Id : 55213112326 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Theory Z is proposed by:
fh%?oﬁm:EiﬁxagyﬁiFﬁhﬁﬁémﬁ:

Options :

55213148413.



Henry Mintzberg
o DoETE mg

William Ouchi

Do Ea""lb
55213148414,

Douglas McGregor

it SorrTrh
55213148415. =

Robert Tannenbaum

U‘“EJQ e.}a“lé Alenble
55213148416.

Question Number : 105 Question Id : 55213112327 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The purpose of the Behaviourally Anchored Rating Scale (BARS) is to:
D3I Loty $9HD Boh )0 (BARS) ados); &@%?So Ad :

Options:

Evaluate a good or bad performance

Hot) T BED FATT Ay 220 & otie)
55213148417. @

Define a job

55213148418, &[T SRDocioe

Improve inter-personal relationship skills

9003 DolloTT"w ﬁ‘?’.g_'jmée:‘)m DoToBotie)
55213148419. L T



Improve Productivity

ST BSOS Dol
55213148420.

Question Number : 106 Question Id : 55213112328 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match List-I with List-Il and select the correct answer using the codes given below the lists:
20T - | D FdE -1l § 20T wdov S e\ ReSTO EDAIrfed

2BADA roasrwa“:)l fodotdod :

List-1
>0 - |

1. Hawthorn Studies

List- I
> - |

a. Frederick Hertzberg

PED erahTe 2005 1 w6
2. Time and Motion Studies b. Peter F. Drucker
B2 B0 AT OEAHTLY 206 F. 646
3.POSDCORB c. Elton Mayo
ﬁ"@ 5'“5% (POSDCORB) DOR Aralr
4, Hygiene Factors d. Frank Gilbreth
2803 05w )
e. Luther Gullik & Lyndall Urwick
resd (108 & dotres 66§
Codes:
Options:
1-c, 2-e, 3-b, 4-d
55213148421.
1-e; 2-d, 3-e; 4-a
55213148422.

1-c, 2-d, 3-b, 4-a

55213148423.



1-b, 2-a, 3-c, 4-d
55213148424.

Question Number : 107 Question Id : 55213112329 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): A Manager delegates authority.
DELD (A) - 28 DIBW VHTT ) WETTOVTCD.
Reason (R): The Manager wants to shirk his responsibility.
o660 (R) : 0D 3D e[S Moct B0t
Options:

Both (A) and (R) are true

Goc (A) Hobodw (R) 2OHD
55213148425. =

(A) is true but (R) is false

(A) 283& =7 (R) Sy
55213148426.

Both (A) and (R) are false

Boco (A) 208030 (R) 82y
55213148427.

(A) is false but (R) is true

55213148428 V) B0 SR (R) 2550

Question Number : 108 Question Id : 55213112330 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
T-Group training is an example of-

T (o 256 A8 et :

Options:
Brain-storming
55213148429, 08 20650
Sensitivity training
D569 DD &9
55213148430.
Role playing
D EDS HHGD
55213148431. =
Management games
DEETes HODD Scen
55213148432. i

Question Number : 109 Question Id : 55213112331 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The model that aims at measuring the degree of each essential ability required for
performing the job effectively is known as:

w8 26 ) DBH0B0IT AIGETFUE"IS BSVERN J D[V Errody 98 ddurer

Options:

Common Metric Questionnaire

FEeoe eSS Sward 7)Y
55213148433.

55213148434.



Fleishman Job Analysis System
22 70 &8(H e DGO

Management position description questionnaire

55213148435, OSTE ALY, BB H3ASBoDS H7) 59

-

Functional job analysis

DeooE Eréd &S?Sﬁ DI
55213148436. =

Question Number : 110 Question Id : 55213112332 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match List-I with List-Il and select the correct answer using the codes given below the lists:
2o - | 2 wdo -l § 20T oo dod AW PodTrumy &HERD KOG

Codes :

"rO;ﬁJ“t‘;J":P:Jl toBotSoC. :
List- 1 List- 11
o - e -l
Henry Fayol a.  Scientific Management
> DO Fo0D RO
F.W. Taylor b.  Pioneer of Human Relations
F.W &od SR Rotolre A8 (1618
Louis Allan c.  Management is what a management does
QPONR AT 6Gre o) ARE” e BN
Elton Mayo d.  The practice of management
a)-aj& Bl QOGTE (R0
e.  Principles of management

NOGTE ArTTeD



Options :

1-e, 2-a, 3-b, 4-c
55213148437.

1-d, 2-a, 3-c, 4-b
55213148438.

1-e, 2-a, 3-c, 4-b
55213148439.

1-d, 2-a, 3-c, 4-b
55213148440.

Question Number : 111 Question Id : 55213112333 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Banks can avail refinance against loans made to industrial units from:
EPfosien JFBTS AL TS dErep RoC. BB BTy Ttk .

Options :

55213148441, DPICGC

55213148442. NEHARD

55213148443, ECGC

IDBI
55213148444.

Question Number : 112 Question Id : 55213112334 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A):  Use of paper money is replaced by plastic money. The future will see
the electronic money clearance through satellite networking.

D803 (A) : 2060 ey DAY 98 cend 0 BT, 3PS’ e
28 aﬁboﬁ (O o)ug*:ﬁ cie.na §oﬁ3653 0 AP 2HHRA.

Reason (R):  Reserve Bank of India is encouraging e-banking.
2660 (R) :  &OSAD 82060 &P(os € ~ erfodord A JTryFR08.

Options :
(A) is false, but (R) is true
Gocd (A) &08ain (R) 20D
55213148445. .
(A) is true, but (R) is false
A) 2BAS 5= (R) &
55213148446. (A) i ) =D
Both (A) and (R) are false
Boct> (A) 208050 (R) 82y
55213148447.
Both (A) and (R) are true
(A) 829y = (R) 2838
55213148448.

Question Number : 113 Question Id : 55213112335 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The main objective of CRR and SLR is to ensure-
CRR &»doin SLR o aiws); QTSQ%‘TS;&D

i. Liquidity position of bank
(oS BIT° DA FQotiot)
il. Financial position of bank
E.J“?SQSJ?{':SJ EES i@j@ﬁ S®Aocioty
iii. Profit position of a bank
SECEET 23@3 £dAoce

Options :

Only (i) is correct
55213148449, o000 (i) PFVS

Only (ii) is correct
55213148450, S@e (i) RVJHE

Only (iii) is correct
55213148451, o020 (iil) DOJ6

(i), (ii) and (iii) are correct

(i), (i), (iii) &0 e 280D
55213148452.

Question Number : 114 Question Id : 55213112336 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

allocates saving efficiently in an economy to ultimate users either for
investment in real assets or for consumption.

w8 eds ;55;5’%}95‘, ©odd IAFATHUD TR GRS dwbed I
QAATTTRS 95008 SO "n};fl.‘)gboejoﬁ“ Q08T B008.



Options :

Economic System
€385 ;::?5;::;’0
55213148453, * ®

Banking System
e.:iﬂéaécﬁ D[DD
55213148454. ®

Financial System

DT QOO DDV
55213148455, @

Market System
2°0),& {0
]
55213148456. '

Question Number : 115 Question Id : 55213112337 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match List-I with List-Il and select the correct answer using the codes given below the lists:
e~ | 0 @do -l & 20T Pdov dot wdyD dodrodd &HAIrAod
BN RAFTTT) (1>8otdod. :

List -1 List -II

oo - | Fdor -l

1. State Bank of India a. 1990
AR o) 2 7ot

2. SIDBI h. 1955
SIDBI (i}ég)

3. NABARD c. 1981
Terd (NABARD)

4. EXIM Bank d. 1982
:Dgf.u BJ"]SOSJ (EXIM Bank)

Codes:

Options :

55213148457, | 0 €7@, 3-C, 4-d

1-a, 2-b, 3-d, 4-c
55213148458.

1-c, 2-b, 3-4, 4-a
55213148459.

55213148460, | 2 273 3-d, 4-C

Question Number : 116 Question Id : 55213112338 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



What will be the impact if Reserve Bank of India reduces the Bank Rate by 1%?
ZEA0H BC EP(o%), EPfos) Bend 1 Tdo SfoddaNd & HEPSo Aaed?

Options :

Less liquidity in the market

S0 85" B8 S B[S
55213148461. =

More liquidity in the market

20°0) 85" DS D BDS
55213148462.

No change in the market liquidity

070,65 Q,;ﬁée:&éﬁ 50760y €oced
55213148463.

Mobilisation of more deposits by commercial banks

:.:‘933&5 EJ‘“?SDSJfS 208y Garat) VSO
55213148464,

Question Number : 117 Question Id : 55213112339 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The success of e-banking depends on:
E — erfoSofy aiws), Daado 2 83573 DE Eotod.

(a) Multi-layer security system
208 ~ So6 BT SyHR

(b)  Riskand surveillance system
0), 20Bosw DAE[DEE ;‘.}?Sb“cg

(c) Updated flawless software
0D GOE S°D6TS D D6

(d)  Stringentlegal framework
SBHDOD THOL FBHAE

Options:

55213148465, &) and (b)

55213148466, (2% (b),and (c]

55213148467, (P, (¢), and (d)

a), (c), and (d
55213148468. (2). (c), and (d)

Question Number : 118 Question Id : 55213112340 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

ALBM (Automated Lending and Borrowing Mechanism) was introduced by:
ALBM (e365°208& Soloh o0& erBoned 205°Aa) 8 99% dLecod.

Options :

55213148469. NSCLL



SEBI

55213148470.

55213148471. NBDL
DSL

55213148472.

Question Number : 119 Question Id : 55213112341 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

When was Life Insurance sector nationalized?

BB DI0° Gotfo DD 2PHODO BoDedod?

Options :

55213148473. 1834

55213148474. 1907

1938
55213148475.

1956
55213148476.

Question Number : 120 Question Id : 55213112342 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

When was the Insurance Regulatory and Development Authority (IRDA) constituted?
DA oo B eﬁi}b&g eszr0e) (IRDA) NN DU"D&D BoWEoR?

Options :

55213148477. 1938

55213148478. Lo

55213148479. 199s

55213148480, 1229

Question Number : 121 Question Id : 55213112343 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
He is a person within a reference group who, because of special skills, knowledge,

personality, or other characteristics, exerts influence on others.
28 8009y daurirod” &R S 8% (s dYE(R, o, Arddvode T8 RS0

VLT BEFOOT RSNV PePdo WPHY & I3 & Diol™ DD,

Options :
Facilitator
=9,
55213148481, >~0B00
Brand ambassador
o
55213148482, & OG ©0ETIEO

55213148483.



Opinion leader
oD OITre) TADEIED

Social role player

55213148484, J STES TETTO

Question Number : 122 Question Id : 55213112344 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

is the process of evaluating each market segment's attractiveness and
selecting one or more segments to enter.

5008 oS asgeaoi)e:b 2200 248 G Botd) Porrwd) oED DS :
Options :

Mass marketing

BT ;ﬁrabe?}oﬁ
55213148485.

Market segmentation

::mabeﬂ otid
55213148486.

Market targeting

9.:55:: ;&fﬁbﬁ
55213148487.

Market positioning

070,65 Tendoh
55213148488.

Question Number : 123 Question Id : 55213112345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

It is a combination of quality, price and service.
QO TEAT", 6 DOBAI DDV VY VIR Eotwod.

Options :
Marketing Triad

;fxragje‘;’mﬁ BS&
55213148489. =

Customer Value Triad

DM HCIL e B8E
55213148490, o

Customer Satisfaction Triad

DACST BT Doy OE
55213148491. i

Service Quality Triad

s Sl (o
55213148492. =

Question Number : 124 Question Id : 55213112346 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match List-I with List-Il and select the correct answer using the codes given below the lists:
P -1 D 2o -1l § 0T wdov doo @\ Rodood Edrhod

2003 AP MBottod

List -1 List- I
o - | >de -l
1. Concept of ‘marketing myopia’ a.  Neil H Borden
479 Bof R Gy PR 6 6. 9
2. Concept of ‘marketing mix of 4- Ps’ b.  Philip Kotler
14-P © &70) Sof 3o’ P RURE(NS
3. Everybody lives by selling something c.  Theodore Levitt
09 246 8 288 6 o (T ADWTE BAFES T
4. Father of modern marketing d.  Robert Louis Stevenson
860 2070) ol ST 0RO a6 e DD
e.  EricRies
205 oo
Codes :
Options :
55213148493, ¢ 473 37, 4°b

1-e, 2-c, 3-d, 4-b
55213148494.

1=b; 2-e. 3-d,_%4-¢
55213148495.

1-c, 2-a, 3-b, 4-d
55213148496.

Question Number : 125 Question Id : 55213112347 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Marketing buzz means-
253°0), &0f 2B T :

Options:

De-marketing

55213148497, 25T, Sof

Social marketing

Daras wﬁbﬁoﬁ
55213148498.

Viral marketing

55213148499, 209 20°0),80h

Virtual marketing

;3:5.3&;‘.}95 ;‘.xrﬁbe?:oﬁ
55213148500.

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 126 Question Id : 55213112348 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

reflects the sum of the perceived tangible and intangible benefits and costs to
customers.

B O DO SeB LBAIN EAVCWA HDAFBOTVN Bk Soro)
DA AT RV Ar)B0d.
Options:
Customer Satisfaction

DTTEOL oy
55213148501. “r



Customer Value

TGO RS
55213148502.

Customer Delight

55213148503, ST TTER D0

Customer attachment

AT T00A) S0 0
55213148504.

Question Number : 127 Question Id : 55213112349 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If a company's objective were to reach masses of buyers that were geographically
dispersed at a low cost per exposure, the company would likely choose which of the
following promotion forms?

w8 DY w8 Sond aws), GETRR B85 ArA bﬁo:boff 26 BTVS Do)
i) Farars Sofien o B sarwet, B 26)8) AT’ A8 Joas

DaS0t00d.

Options :

Advertising

:.r*éb“d DD
55213148505.

Personal selling

(80D ) S"e
55213148506.

Public relations

55213148507, =5 oW



Sales promotion

SEVU RV
55213148508. -

Question Number : 128 Question Id : 55213112350 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Inside sales is known as
©0B0S 9:3)) STV & DT J(HFOI"C.

Options:
Direct marketing
DA(E $55°0) &0
552131485009.
Tele-marketing
55213148510, 0 270806
Social marketing
Frarras 550 Ooh
55213148511.
Viral marketing
D65 55°0) oh
55213148512. *

Question Number : 129 Question Id : 55213112351 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Match List-I with List-Il and select the correct answer using the codes given below the lists:
e - | & wde -1l § 20T wdev dod adyd DodToly edAIrfod KB

PP ) hotsod.
List -1 List-1I
Do - | oAl |

e

1. Convenience Products Life and health insurance policies

86 S0 400 Sodaty et Har Fodey
2. Shopping Products b.  Rolex watches, Televisions
ro0f SRR B8y téairoe, B8R
3. Specialty Products ¢.  Furniture and major appliances
7033“9&5 SR 28) 096 2080k I fFasdEe
4. Unsought Products d. Magazines, Laundry detergents
OR0ITVE"E HWPD DFSRD, erog, G005 DL
Codes :
Options :
1-d, 2B, 33 4¢
55213148513.
i-d.2-c. 3-b. 4-a
55213148514.
55213148515, | P» 273 3-d, 4-C
1-c, 2-a, 3-b, 4-d
55213148516.

Question Number : 130 Question Id : 55213112352 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Remarketing is related with creating demand for
‘:".g_')a‘:.g:}c“&ej ;ﬁr&aﬁoﬁ 908 & §6% Aarel & SR BROB.

Options :

Low quality products

ri w.
cc213148517. DSk TS 0 S

Perishable products

SO e 'O HRAPLW
55213148518.

Non-usable products

55213148519, DROT (S S SwPew

Renewed use of products

S0PV ArSD DIArHS $dyotsco
55213148520,

Question Number : 131 Question Id : 55213112353 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Inadequacy of consideration in a contract
28 SRS’ (2y0608°) DBDLE PBDEDeS SHYYE

Options :

will make it void

DOAETT Baod
55213148521. i e

will not make it void

55213148522, DEYNET BADS



will make it Illegal

29500 WAL
55213148523. -

will make it wager

2O ST WRod
55213148524. =

Question Number : 132 Question Id : 55213112354 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Negotiable instrument means a promissory note, bill of exchange or cheque payable to:
HDADES BAFY ot BT 2 DBors50 w8 FAB o, A0\

ef)g.p g ﬂ'ﬁﬂ%

Options :

Bearer

£dn ey S8
55213148525.

Order

86 Jodd 78
55213148526. =

Either to bearer or order

sdh &) D)8 Sor 386 Todd (8
55213148527. a =

Neither to bearer or order

sOA &) I8 20da3N 386 Tobd IS0 L™
55213148528.



Question Number : 133 Question Id : 55213112355 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A void agreement for a contract is:
28 a..n::-;jat:rnijé RotioBo) BV SSVES

Options :
Sale agreement
w;ﬁsészgj ‘rb;ﬁ.vée?
55213148529.
Purchase agreement
§Rofen )8
55213148530.
Wagering agreement
276 K:n;ﬁ:ée‘ié
55213148531.
Sharing agreement
2DoDSY) "n:r;ﬁu.)é@
55213148532.

Question Number : 134 Question Id : 55213112356 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In India GST became effective from i
PGS B30 DR VAV DAy (GST) Aol eaee’ds AN

Options :

55213148533.



1t April 2017
D365 1, 2017

15t January 2017

55213148534, 2090 1, 2017

15t July 2017

e 1, 2017
55213148535. *=

15t March 2017

55213148536, =0 0 1» 2017

Question Number : 135 Question Id : 55213112357 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

GSTisa based tax on consumption of goods and services.
GST, HPLO 0B0IN DOV DT o DBodeE 28 sErdd DAY
Options :
Duration
5556
55213148537.
Destination
ﬁ.;ﬁs?(}am
55213148538.
Development
E@b&%

55213148539.



Dividend

55213148540, CdGo&

Question Number : 136 Question Id : 55213112358 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What does ‘'I' stands for in ‘IGST’?
1GST €5 ‘I’ 9083 Daed ?

Options :
International
e90SdTeI0R)
55213148541. &
Internal
55213148542, 20988
Integrated
55213148543, SOER
Intra
90807 (e5°08)
55213148544, '

Question Number : 137 Question Id : 55213112359 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The Consumer Protection Act, 1986 enacted on .
DA AL DodLer theo, 1986 & 2008’8 )\ od.

Options :

24 July 1986

55213148545, 24 &0, 1986

24 August 1986

55213148546. o= Hﬁﬁ:’ R

2 October 1986

2 095’2060, 1986
55213148547. -

24 October 1986

55213148548, 24 DEWO0, 1986

Question Number : 138 Question Id : 55213112360 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which area of business laws, focuses on the protecting the rights of artistic works?
:.r’l@“d tﬁwe;mﬁ‘ D Mo, S CRUNLE Roe)oGoldd 1rEy Ok S EodS” N
b&gc‘.o 20L 008,

Options :

Contract law
a..::::;)nm‘e_: o
55213148549, e

Sales law

DS03Te o (ﬁrm&?u Sedo)
55213148550. % =



Intellectual property law

AE 2oHS o
55213148551. 5

Liability laws

eq"ﬂmée:’e iéTre
55213148552. =

Question Number : 139 Question Id : 55213112361 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

gives only a general idea about securities.
DET{BBVR A8y TG VIV AT BRWod.

Options :

Shelf prospectus

2S5y DBBODH Do
55213148553.

Red herring prospectus

O& a38of DBWADL Dedo
55213148554.

Abridged prospectus

RofieTrotiertd HBBOI Do
55213148555,

Deemed prospectus

A HOBODH Do
55213148556. =

Question Number : 140 Question Id : 55213112362 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A limited liability company has characteristics of:
28 DB Sl <DAD oD 208 QIEED T VLFTFOR SR Sotod.

Options :
Partnership

a;“rié“s;ﬁ.)so
55213148557.

Corporation

50 O
55213148558, — D

Both a partnership and a corporation

E,Tﬁ.ﬁ“s;ﬁo?go 08050 585D
55213148559.

Sole trader

Foch a‘éﬁ‘do
55213148560.

Question Number : 141 Question Id : 55213112363 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Income by way of rent of agricultural land is:
:;5:;3“0:13 B BB FD(Go TT° VDo) BSEEA0

Options :

Business Income

;‘55“6 e3C° 0o
55213148561.



Agricultural income

b&b&oﬁa esroddo
55213148562.

Income from other sources

QBS TR BT Dot e300
55213148563. L

Casual income

J -6 esmroo
55213148564.

Question Number : 142 Question Id : 55213112364 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Residential status is determined for:
QDT 2B DY FADAST AW

Options :

Financial Year

es0s *rbo;ﬁefabdo
55213148565. @

Previous Year

ried f-ao;ﬁe:s:,dn
55213148566.

Accounting year

S otloh “n}obeﬁbdo
55213148567.

Assessment Year
€970/ sobd “n}o;ﬁeﬁbdo
55213148568.



Question Number : 143 Question Id : 55213112365 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Interest credited on investment in Public Provident Fund is:
DDS a;ii)a’:gi)éa‘i" REAVIATAATIR R ITA N ;ﬁé esooio

Options :
Taxable under the head ‘income from other sources’
55213148560, QSBS DIOBOL Aot e3TOI0’ Sold DAY AT TATAA T
Taxable under the head ‘income from business or profession’
£213148570. TR0 SO HB00 Aol BEFae’ §o6d DAY DBeDWEIRD
Allowed as Deduction
SN0 9B 0DLIEIAD
55213148571. i
Exempted from Income-tax
O DAY Aot DITFoLoTILICID
55213148572.

Question Number : 144 Question Id : 55213112366 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Surcharge of 10 per cent is payable by an Individual where the total income exceeds:
w8 I8 3 Awdo smabo DoddLowd 10 Tdo 26 &8 BotsdOD

&obLod).

Options :



Rs. 10,00,000

doe. 10,00,000
55213148573.

Rs. 20,00,000

55213148574, &0~ 20,00,000

Rs. 40,00,000

55213148575, - 40,00,000

RS. 50,00,000

55213148576, O~ 20,00,000

Question Number : 145 Question Id : 55213112367 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The rate of tax that is leviable on STCG arising from transfer of Equity shares of a
Company or units of an Equity oriented fund is:

&8 000 o) &30 Tere S s Brrds abrdy wed T &) Kk
STCG o2 dodwE :Jr'\‘.‘ol ot :
Options :
10 per cent
55213148577, 10 T80

15 per cent

55213148578, ° @ o°

20 per cent

55213148579, 20 ¥ &0



30 per cent
55213148580, -O To

Question Number : 146 Question Id : 55213112368 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

TDS, in case of salary should be deposited ;
2dho Aok BTFOITIS VotioHo)d, TDS & 250 Boird.

Options :

Within 15 days from the end of the month in which such tax is deducted.
£90508) D) A0 B e Aect 15 Faro &Y

55213148581.
Within 30 days from the end of the month in which such tax is deducted.
e9e0H0e) D&Y A Bfetd duradd Ao 30 Bwe &Y

55213148582. 9
Within 7 days from the end of the month in which such tax is deducted.
Do) DAY A SAodD Deretd Aod. 7 Fwe &Y

55213148583. L
On the next working day.
960 S0k :Jmlm SN0 SE0H0 DI Bz

55213148584. £

Question Number : 147 Question Id : 55213112369 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



In computation of total income - match the List-I and List-II -in respect of allowable
deductions from gross total income and select correct answer using the codes given
below:

2ndo BEalrd) 08 oo, rder =1 & &rder —Il § Ar(d SR, WY sEabo
Aok 9NNE S0P Votdon), FOTV So8 faasm&a §€ o BErdor

DBV 2TeA Botset. :
List-I

o - |

1. Contributions to Approved
Relief Funds and Charitable

List-II

e -1 |

Section-80E

[nstitutions
AT G0 JoBd 80D Doy NES-80-E
Sobain e :)o‘gus.)
W0 Joewren
2. Premiums paid on Medical b.  Section-80DDB
Insurance Policies
206 D Fodwp B doate 2¢5-80-DDB
3. Investments / Expenditure on c.  Section-80G
Saving Schemes
Denechen / T HETL Bh NES-80-G
4. Interest amount paid on Loans d.  Section-80C
for Higher Education /Studies
&) 8 da{ S0 BOD BETFYD NES—-80-C
AR
e.  Section-80D
NES—80-D
Codes::
Options :
55213148585, | 2 &70» 37€, 4-e
1-€; 2-e, 3-d,.4-a
55213148586.

55213148587.



1-b, 2-c, 3-a, 4-d

1-¢c, 2-b, 3-a, 4-e
55213148588.

Question Number : 148 Question Id : 55213112370 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

For the assessment year 2019-20, a resident individual with a severe disability of 80
per cent or more can claim deduction from his gross total income under section 80-U
an amount of

Y0 okw Moddydo, 2019 ~ 20 T, w8 TS HS 80 TEAW T WodSel]
&)Q.‘%D B ESUPSO 9n &R YW, O VED 80 - U 06 & 'rgJ"U
o BTTOLe Aok SR S B8 D3\,

Options :
Rs. 75,000
55213148589, OO 72:000
Rs. 1,00,000
55213148500, O~ 1,00,000
Rs. 1,25,000
do. 1,25,000
55213148591,
Rs. 1,50,000

55213148592, - 1,50,000



Question Number : 149 Question Id : 55213112371 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
With which of these an income arising from an international transaction be computed?

28 @o@g"ém o TEY Aol &)%) S0 Bl S0 B3I tedorrd ?

Options :
Data bases
55213148593, 8T 8 &
RDBMS

55213148594, RDBMS

Soft wares

v 2 s 5
55213148595, & =

Arm'’s length price

‘u:ﬁé T O
55213148596. =

Question Number : 150 Question Id : 55213112372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

arises when the jurisdictional correction used by different countries
overlap or the tax payers may have connections with more than one country.

S BT T edalrfon edsd HBden ws orlp 88 Lvd D,
LONAYE T D) Doy iR w8D Sof D B7u8 Howomu £98

63) D 9580828,



Options :

55213148597.

55213148598.

55213148599.

55213148600.

Overlap
56 =D

Double taxation
cﬁscﬂ.’a ::ml D&

Treaties
200G

Violation
&0



